A% (T/KE#EBN) HPE®75.PP®$50-40-13 &#f

N ‘ R
b T ik W R U A B
[&#4] AG%
EF% O e ¢ 75 46.0 46.0 %N
RYZF LU AT ¢ 50 12.2 12.2 m
¢ 40 2.0 2.0 m
$13 1.0 1.0 m
AWK G5 ¢ 75 1 1 H
FCDHdft- 807 ¢ 50 1 1 Ik
g 675 $ 50
g E (ME1E) JWWA B 132 1+ 1 2 HH
Y
RB25 (K) 2+ 2 4 i
b
RB25 (A) 1+ 1 2 &l
TR
RB25 (C) 1+ 1 2 J[E
JEERR
RB25 (P) 1+ 1 2 HH
EF90° /LR 675 2 2 |
PPA90° =R ¢ 50 3 3 &
EFY /4 vh ¢ 75 1 1 i
PPV vk ¢ 50 1 1 1
PVY 4ok ¢ 50 1 1 i
¢ 40 2 2 (]
613 2 2 &
HPEM
PRk A & 75X ¢ 50 1 1 {IE
675X ¢ 40 2 2 1
675X 613 2 2 |
PCVaA b ¢ 75 1 1 1#
MEYaA b ¢ 50 2 2 1
¢ 75 ¢ 50 $ 40 613
HRT—7 150mm 2316 + 12.2 + 2.0 + 1.0 246.8 | m
~——H 7 7 1




A% (F/KEFHED)

HPE ¢ 75, PP ¢ 50-40-13 7%

& B

piikicy

[ e O 5K

$o& | W
[57%] N
RN F L EARR T ¢ 75 231.6 231.6 m
¢ 50 12.2 12.2 m
¢ 40 2.0 2.0 m
¢ 13 1.0 1.0 m
Rl AT T 75 52.0 52.0 u]
Vv TR PR
PPk T. ¢ 50 1.0 + 30 + 1.0 5 m]
Vi TR PR
¢ 40 20 + 00 + 2.0 4 5]
ok TR PR
¢ 13 20 + 00 + 2.0 4 5]
HRT —7 % T 246.8 246.8 m
AR IR E T
(PR & Te) ¢ 75 1 1 EiAT
f-E)FpaRE L
(EPEAETe) ¢ 50 1 1 EAT
R)=F LA
PR AKEESAR T ¢ 75X ¢ 50 1 1 & AT
RYTFL &
¢ 75X ¢ 40 2 2 £
RyTFL &
G T5X ¢ 13 2 2 £
AR =T )VHEF T ¢ 75 2 2 m
PP ]
AN = HVHETFET ¢ 75 1 1 ]
PP ]
AN = HVHETFET ¢ 50 1 1 ]
TIUVHETFL ¢ 50 2 2 m
HPE®
B T 675 2 m]




19'1¢2 =10 0 0 0 0 66°0 0 [47A! 00070 09'v 9¥ 023 =
TE €ve o GG¢°0 GLE0 Lv0 G670 8L°0 1L°0 S E=h
1 0 0 0 0 0 14 0 14 00070 09'v 09'% 0y g
9% 0v'0
002'%
! 4 4 44
() () () () () () () () wQ 6=
SL® GL® | GLP GLP | GLP | GLO GLO oo xae ()
S5 | V/1 ¢/1 @ S AL (ur) () & H
(42%) s cRLc 138 SV 06 humEn FEYEE 62 Slad )z
ey CIC! Nkl A=A LA By ENgEd GL9HAdH |2 ¢ ddH |62 ¢ ddH
wwg) ¢ HdH

(GEE ROV L) 3



56 g w 6 X GG OB F7 p Y woch=M-GE - L LA

6670 I w 660 (¥dh) ¥ ch WOGT= - o BT - 3l

01T I w T x 660 (X)) B4 WOGT=M -5 EI - %2F g I 3]

80°0 w oge w 010 X w/3 €200
80°0 80°0 w Lo ARG
I T (G Y e SN G FY ER¥
09°6 01 iy 06 + O0I'F wog=1 (07) SV THH Py & T
09°6 01 iy 056 + 0I'F wog=1 (07) SV TPy e TE¥
09'6 01 w 06 + 0I'F wozz="1 ‘0v-0¥ T B
96°0 0T u 660 + I¥0 sy OGN
96°0 01 u G660 + I¥0 sV e B 2
076 6 u 0€g + O0I'F T
076 6 w 0€'G + 0TV +E T 3%
0S¥ g u 052 + 00%¢ il T @i
092 € u 05T + 0T 0F—0OY T3 @il
076 6 w 0€'G + 0TV TR (IR
09°6 01 iy 056 + O0I'F A yquwoor=1 sV [T Fax AR
00°G¢ Ge w 000z + 00°GI A ygwogr=1 sy TGRS
05 @ GL®
dd ddH
woow|u wi | MHEEETF ey (FE (EMEOKL) MBRCEUMERT | 7 o+ % & | u ¥




ce0 = w 0oLy X w €00 X w/3 €200
2€0 €0 w Lo ARG
T (G 0 S SH HGYFRY ER¥
0%°821 821 wm OI'T + OI'T + 02T + 00621 |wog=1(en)svalmmga TE>¥
0%°821 821 w or'T + O0I'T + 031 + 00¢3gI woT=1 ‘07-0¥ T E
68'¢ 0¥ w €00 + €0 + V00 + GLg sV AVt
68'¢ 0¥ w €00 + €00 + F00 + SL€ sV e BTN
0Lvel 0€1 w 080 + 080 + 0T + 08I¢€l T
0Lvel 0e1 w 080 + 080 + 08T + 08I¢€l FHE@ MECT T 5%
0L°09 09 w 050 + 050 + 090 + O0I'6S ,@ T @i
G1°09 09 w ¥20 + ¥20 + 160 + OI'6S o —0 T @il
0LveT 0€1 w 080 + 080 + 0T + 087I¢l TR (1
01°821 821 w 01'T + OI'T + 021 + 00621 A awWoor=1 sV [T OxH LTS
08°99F 0L¥ w 007V + 00V + OVF + OVFSY A ygwogr=1 sy TGRS
3K 07 P 05 ¢ GL®
dd dd dd ddH
woow|u mi | MHEEETF Y (R EMEOKL) MBRCEUmEET | 7 & % & | u ¥




'y L2 GG0 0G°L wog =1 * (07) SV F T F F fst T &2
L'y LS G50 0G°L wog=1 *(07) SV F Ty TEY
'y e 660 0G°2 wogzz =1 ‘0v-0Y TR
170 w sV AL T
170 it 01°0 01'¥ Y HE Y B
'y Iy 01'¥ RS
I'v wu vgo X 05°L FEaH e 3
0z o 920 X 0S°L q T3 e
' it G0 X 0S°L 07-0Y T @R
v mu vG 0 X 05°L F R LN
'y S0 660 X 0S°L A YqWoQT =1 'SV | T F OGN
0°GT 00z X 0S°L J yquoQr =13 sy TGRS
B YALEE (B PR L) T2y 6L ¢ ddH A s | W
(e =VEHY;
LA &, WO 01 0¢L =THW §L ¢ ddH




§'g L €60 X 00°0T wWog=1 * (07) SV Tk TERE
G g jos! GG0 X 00°01 wWog=1 * (07) SV FIH B &t T &5
G'g I 630 X 00°0T wozz =1 ‘0F-0d LA
660 I sV AV AT
G0 w 010 X 08¢ Y A=
€6 w 0€°G ERTS
g w €60 X 00°0T T H M 3
g w 62’0 X 0001 l TN Rl
6T oy ST°0 X 00°0T 070 T Rl
ec w €50 X 00701 FE L1
e o0 6&'0 X 00°0T A FWoQT=1 SV | T F xR
0°0% w 007 X 0001 A awoQ1 =3 ‘sv TGRS
i W% (T HAEE N (Bl (AN ) T3EY08 ¢ dd S
(44 =VE(F WO 01 =1EFY) uo =V
9 EXFTAgE, WO 01 =iy - AR w060 =HXE w0001 =T 0S¢ dd




0°¢eT GG'0 03°L3¢ wog =1 ‘ (£1) SV T &t TE(2E
0°621 GG0 02°L2¢ wo(l =1 ‘0F-0u TES
GLE SV LT
GL¢ €0°0 00°GZ1 Sy fiEanAiRo
8'1¢1 08°1¢1 T3
8'1¢1 8G°0 X 02°L2% TH WECF %
165 9270 X 02127 b T Qi
165 9270 X 02°L2% 0v-0¥ T Qi
8'1¢1 8G°0 X 02°L2% FHEqM (i
0°62T GG'0 X 02°L22 Jyqwoor=1 ‘sv [T #EaxEnyFE
Vveh 002 X 02°L2% J yqwogr =1 sy TGRS
W AL (B ROV L) T2y 6L ¢ ddH A s | W
HHMM@ =VEHY
LXFAL = VER Fe 02222 =147 ¢ ¢ ddH




21 w GG'0 X 03°% wog =1 (€1) SV I T &2
z'1 o 660 X 037 woT=1 ‘07-0 LERA
70°0 w sV ALY
¥0°0 w €00 X 021 sV HE 3
€1 Iy 08T T
e w 150 X 022 FE @ M 3%
90 o G20 X 03¢ il T3 R
90 o 920 X 03¢ 07-0¥ T3 e
e1 o LGS0 X 0¢¢ FEM LN
71 o0 66’0 X 027 A FWoQT=1 SV | T F xR
vy 002 X 022 A yqwogr =1 ‘sv TGRS
W ROy - [RE RO ] ) T 3086 ¢ dd oo oA | oW %
=& wo =V
{3 w060 =HXH W o0ge =THW 0G ¢ dd




! L G50 X 002 wog=1 * (¢1) SV A THF T B T &EE
I'T IS G660 X 007 wo0T=1 ‘07-0Y TR
€0°0 w sV ALY
€0°0 w €00 X 0I'l sV HE 3
80 w 08°0 RS
80 u gro X 00% T H M 3
G0 w ¥20 X 00T il T @i
20 w gro X 007 07-0u T @i
80 w o X 002 FE L1
T'T o0 660 X 007 A FWoQT=1 SV | T F xR
0y 002 X 007 A yqwogr =1 ‘sv TGRS
W By - [RE RO ] ) T3y 07 ¢ dd oo oA | oW %
=& Fy wo =VE
&% w90 =HX4 w007 =T 0 ¢ dd

10




! L G50 X 002 wog=1 * (¢1) SV A THF T B T &EE
T i 660 X 007 wo=1 ‘07-0d O
€0°0 I Y avaLtistd
€0°0 w €00 X 0I'T sV e 10 T 24
80 oy 08°0 RS
80 w W0 X 0072 T H M 3
0 oy €20 X 00% l T4 Rl
20 oy ¢ro X 00% 07-0u T4 Rl
80 w 170 X 007% T2 R
T'T o0 660 X 007 A FWoQT=1 SV | T F xR
(187 007 X 00% A awoQ1 =3 ‘sv TiHaaR4y
W By - [REN RO ] ) T3y ET ¢ dd oo oA | oW %
= Vi EH wo =VE(HY;
&% w90 =HX4 w007 =T €19 dd

11




+ T F B %
HPE ¢ 75 A% T. (FAKEABY : ) Fat i | RaD = 0.90 m
HPE ¢ 75 IR (W) RHRE (C)
EHME(D2) 0.090 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
| &= 0.55 X ( 0.8 + 0.090 + 0.1)= 0.54 m
HHIE (W) R (H1) MR
R = 0.55 X ( 0.8 - 03 - 022)= 0.15 m
I (W) WHRIE (h1) BT A
WO = 0.55 X  0.490 - 0.0064 = 0.26 m
IR
T A E = 0.54 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 7 EHME 90
1 |PP¢13 21.5 0.55 W: |7 e 0.55
2 [PP¢20 27.0 0.55
3 |PP$25 34.0 0.55
4 [PP¢ 30 42.0 0.55
5 |PP 40 48.0 0.55
6 |[PP ¢ 50 60.0 0.55
7 |HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 |DGX 6125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 |DGX ¢ 250 271.6 0.60 =
13 |DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < a
15 |DGX ¢ 400 425.6 1.05 _0f
16 |DNS ¢ 450 476.8 1.10

12




13

+ T F B %
PP ¢ 5048% T. (N /KE A B : H) Fi it HERAD= 0.90 m
PP ¢ 50 HE I (W) FMJE(C)
EHME(D2) 0.060 HE g (W) 0.55 + = 0.55 m
PEHIIE (W) BR(HD) EHME Le
RH 8= 0.55 % ( 0.80 + 0.060 + 0.1)=  0.53 m
PEHIIE (W) BR(HD) WHREM)
R = 0.55 X ( 0.8 - 03 - 022)= 0.15 m
PEHIIE (W) IR (h1) TR
WM = 0.55 X 0.460 - 0.0028 = 0.25 m
PR
FAE T E = 0.53 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 6 EHME 60
1 |[PP$13 21.5 0.55 W:| 6 H 1 e 0.55
2 [PP¢20 27.0 0.55
3 |PP$25 34.0 0.55
4 [PP¢ 30 42.0 0.55
5 |PP 40 48.0 0.55
o lroso | w0 | oss |
7 |HPE ¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
SRR -
9 [DGX¢125 143.0 0.55
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ | <
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
HPE ¢ 75 A% T. (FAKEABY : 20E) Bat i | RaD = 0.90 m
HPE ¢ 75 IR (W) RKIRIE (C)
EHME(D2) 0.090 HE g (W) 0.55 + = 0.55 m
HRHIE (W) R (H1) AR iy
RH 8= 0.55 % ( 0.87 + 0.090 + 0.1)=  0.58 m
HHIE (W) R (H1) MR
R = 0.55 X ( 087 - 0.3 - 0.1)= 0.26 m
PEHIIE (W) WHLEREE (h1) TR
WO = 0.55 X  0.490 - 0.0064 = 0.26 m
RS
FEAE L E = 0.58 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O EHME I D2:| 7 EHME 90
1 |[PP$13 21.5 0.55 W:| 7 H 1 e 0.55
2 [PP¢20 27.0 0.55
3 |PP$25 34.0 0.55
4 [PP¢ 30 42.0 0.55
5 |PP 40 48.0 0.55
6 |PP¢50 60.0 0.55
-HPE 675 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10




+ T F B %
PP ¢ 5048% T (N /KB A B - Aa) $ it A HERAD= 0.90 m
PP ¢ 50 HE I (W) FMJE(C)
EHME(D2) 0.060 HE g (W) 0.55 + = 0.55 m
PEHIIE (W) BR(HD) EHME Le
RH 8= 0.55 % ( 0.87 + 0.060 + 0.1)=  0.57 m
PEHIIE (W) BR(HD) WHEFEER) g
R = 0.55 X ( 087 - 03 - 0.1)= 0.26 m
PEHIIE (W) IR (h1) TR
WM = 0.55 X 0.460 - 0.0028 = 0.25 m
PR
FAE T E = 0.57 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 6 EHME 60
1 |[PP$13 21.5 0.55 W:| 6 H 1 e 0.55
2 [PP¢20 27.0 0.55
3 |PP$25 34.0 0.55
4 [PP¢ 30 42.0 0.55
5 |PP 40 48.0 0.55
o lroso | w0 | oss |
7 |HPE ¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
R R
9 [DGX¢125 143.0 0.55
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - 3
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10 B B
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+ T F B %
PP ¢ 40A5% 1. (F/KEAHY) : A0E) HEEH A HERI)= 0.65 m
PP ¢ 40 HE I (W) FMJE(C)
EHME(D2) 0.048 HE g (W) 0.55 + = 0.55 m
PEHIIE (W) BR(HD) EHME Le
RH 8= 0.55 % ( 0.62 + 0.048 + 0.1)=  0.42 m
PEHIIE (W) BR(HD) WHEFEER) g
R = 0.55 X ( 062 - 03 - 0.1)= 0.12 m
PEHIIE (W) IR (h1) TR
WM = 0.55 X 0.448 - 0.0018 = 0.24 m
PR
FAE T E = 0.42 m
XA R (H1) (3, Sl 52 H| Bk S
D2: EAME— 3K (nm)
X5y H O EHME I D2:| 5 EaME 48
1 |[PP$13 21.5 0.55 W:| 5 H 1 e 0.55
2 [PP¢20 27.0 0.55
3 |PP$25 34.0 0.55
4 [PP¢ 30 42.0 0.55
Lo lepaso | a0 | oss |
6 _|PP¢50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 |DNS ¢ 450 476.8 1.10




+ T B EBE =%

PP ¢ 13A8% T. (FAGERE) : H28) BomdtH ERME)= 0.65 m

PP ¢ 13 S HIE (W) FMJE(C)
EHME(D2) 0.022 HE g (W) 0.55 + = 0.55
PEHIIE (W) BR(HD) EHME Le
RH 8= 0.55 % ( 0.62 + 0.022 + 0.1)=  0.41 m
PEHIIE (W) BR(HD) WHEFEER) g
R = 0.55 X ( 062 - 03 - 0.1)= 0.12 m
PEHIIE (W) IR (h1) TR
WM = 0.55 X 0.422 - 0.0004 = 0.23 m
PR
FAE T E = 0.41 m

OB R (HD 13, 28 I bR o

D2: E A — & (nm)

X5y H Ol B H 1 e D2:| 1 EHME 21.5
Lileross | ous | om | wli] wg | o
2 [PP¢20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP¢ 30 42.0 0.55
5 |PP 40 48.0 0.55
6_[PP¢50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 |DGX¢ 125 143.0 0.55
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 | =
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05
16 |DNS ¢ 450 476.8 1.10
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AL (F/KEEM) HPEQ75.PPp50 &t

W B K O 5 A

4 B b5ikig & W
[&#4] A%
EF%Z N AR ¢ 75 8.0 8.0 %N
R Z=F LT ¢ 50 2.0 2.0 m
TWARLLE)FR 675 1 1 3
s ¢ 75
U E (MF1E) | JWWA B 132 1 1 HH
YT
RB25 (K) 2 2 i
R
RB25 (A) 1 1 &l
TR
RB25(C) 1 1 &
JEERR
RB25 (P) 1 1 H
EF90° =LA 675 2 2 18
PV /b ¢ 50 2 2 i
HPEM
BRALIKAE ¢ 75X ¢ 50 2 2 J[E
PCVaA b ¢ 75 1 1 1
75 ¢ 50
HRT—7 150mn 40.0 + 2.0 42.0 m
~—N—Ht 4 4 1
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E ~: PR3 ALY ko
A% (F/KEEI) HPE)T75.PP@50 HiE
& B T Wl B U A B OR | w
[57%] A%
RYTF LS Aia% T ¢ 75 40.0 40.0 m
¢ 50 2.0 2.0 m
Rl T T ¢ 75 14.0 14.0 m]
ok TR PR
PPitF T ¢ 50 20 + 00 + 0.0 2 m]
HRT—F A% T 42.0 42.0 m
Rk E)fpakiE T
(B ETe) ¢ 75 1 1 T
R)=F LA
FRAKIEBIAL T ¢ 75X ¢ 50 2 2 i ET
A =INVHETF T ¢ 75 2 2 =]
PP%
AB = INVHETF T ¢ 75 1 1 =]
HPE#
Bl T 675 4 =]
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+ T F B %
HPE ¢ 75A3% T. (F/KGE Bl A28 Bal i @K@= 0.90 m
HPE ¢ 75 IR (W) RKIRIE (C)
EHME(D2) 0.090 HE g (W) 0.55 + = 0.55 m
HRHIE (W) R (H1) AR iy
RH 8= 0.55 % ( 0.87 + 0.090 + 0.1)=  0.58 m
HHIE (W) R (H1) MR
R = 0.55 X ( 087 - 0.3 - 0.1)= 0.26 m
PRI (W) WHLEREE (h1) TR
WO = 0.55 X  0.490 - 0.0064 = 0.26 m
RS
FEAE L E = 0.58 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B S 1 g D2:| 7 EHME 90
1 |[PP$13 21.5 0.55 W:| 7 H 1 e 0.55
2 [PP¢20 27.0 0.55
3 |PP$25 34.0 0.55
4 [PP¢ 30 42.0 0.55
5 |PP 40 48.0 0.55
6 |PP¢50 60.0 0.55
-HPE 675 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10




+ T F B %
PP ¢ 5048% 1. (N /K& HU : A0E) it A HERAD= 0.90 m
PP ¢ 50 HE I (W) FMJE(C)
EHME(D2) 0.060 HE g (W) 0.55 + = 0.55 m
PEHIIE (W) BR(HD) EHME Le
RH 8= 0.55 % ( 0.87 + 0.060 + 0.1)=  0.57 m
PEHIIE (W) BR(HD) WHEFEER) g
R = 0.55 X ( 087 - 03 - 0.1)= 0.26 m
PEHIIE (W) IR (h1) TR
WM = 0.55 X 0.460 - 0.0028 = 0.25 m
PR
FAE T E = 0.57 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 6 EHME 60
1 |[PP$13 21.5 0.55 W:| 6 H 1 e 0.55
2 [PP¢20 27.0 0.55
3 |PP$25 34.0 0.55
4 [PP¢ 30 42.0 0.55
5 |PP 40 48.0 0.55
o lroso | w0 | oss |
7 |HPE ¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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RE% (F/KEFEBI) PP ®50-40-13 &#t

b B Wit BERT R O
(5411 5
RYZF LT ¢ 50 474.5 + 5.4 479.9 | m
¢ 40 2.0 2.0 m
613 2.0 2.0 m
PP /LA 50 4 4 &
PP ¢ 50 10 10 1
PV 650 1 1 1A
¢ 40 2 2 1
613 2 2 1
PPF—X ¢ 50 1 1 1
¢ 40 2 2 1
DIPH
PAVIZAVIN S 75X ¢ 50 2 2 1@
PPH
PR AR $50X ¢ 13 2 2 1
PRI ¢ 50 474.5 4745 | m
DIPF v~ 675 2 2 i
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=0 s . . o
5% (F/KE##B)) PP$50-40-13 375
N ‘ v s | e
4 F e W I R O B K BOE | w
[57%] %
R E2F LU EAR T ¢ 50 479.9 4799 | m
¢ 40 2.0 2.0 m
¢ 13 2.0 2.0 m
Vv F—R LR WL
PPitF T ¢ 50 11.0 1.0 + 4.0 + 2.0 18 m
ok F— LR A%
¢ 40 2.0 20 + 0.0 + 0.0 4 m
ok F—R TR A
¢ 13 2.0 0.0 + 00 + 20 4 m
PR KRREGA T ¢ 75X ¢ 50 2 2 T
AH =V T ¢ 75 2 2 =
DIP#&
Bk T $75 2 =)
AR F Lo E T ¢ 50 479.9 4799 | m
¢ 40 2.0 2.0 m
613 2.0 2.0 m
LS e
BETTH PP ¢ 50 479.9 1.216 = 583.56 583.6 | kg
IR HE
PP ¢ 40 2.0 0.788 = 1.58 1.6 kg
HER HEE
PP ¢ 13 2.0 0.184 = 0.37 0.4 kg
A5 5855 | kg
PP /LR e R
AT T ¢ 50 4 3.170 = 12.68 12.7 kg
PPV %% iy
¢ 50 10 2.910 = 29.10 29.1 kg
PV /o h %% O
¢ 50 1 2.900 = 2.90 2.9 kg
PV ok %% O
¢ 40 2 1.900 = 3.80 3.8 kg
PV /o h %% O
$13 2 0.375 = 0.75 0.8 kg
PPF—X fE%% e
¢ 50 1 4770 = 4.77 4.8 kg
PPF—X Tk o
¢ 40 2 3.160 = 6.32 6.3 kg
aEt | 60.3 kg
YRk sk o
AT T ¢ 50X 13 2 1.700 = 3.40 3.4 kg
a5t 3.4 kg
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32

+ T & & =
PP ¢ 5015 a% L (FAEAE)  AE) FomalAm @ R@E) = 0.30 m
PP ¢ 50 PR (W) RIRE(C)
EHME(D2) 0.060 HEHIHE (W) 0.55 + = 0.55
I (W) R (H1) AN e
THI &= 0.55 X ( 0.27 + 0.060 + )= 0.18 m
HRHIE (W) R (H1) MR
R = 0.55 x( 0.27 - - 01)= 0.09 m
HRHIE (W) RO HEFRE (1) RS
O = X - = nf
PR
A = 0.18 m
B R (H) 13, Sl R BR v
D2 : & ME— B (nm)
X5y e EIME EHIE D2:| 6 BHME 60
1 [PP¢13 21.5 0.55 W:| 6 S e 0.55
2 |PP¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40 . .
Lo leroso [ o0 | o5 |
7 [HPE ¢ 75 90.0 0.55 o
8 |DGX ¢ 100 118.0 0.55
RN .
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 [DGX ¢ 250 271.6 0.60 =
13 |DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 = c
15 |DGX ¢ 400 425.6 1.05 01
16 |DNS ¢ 450 476.8 1.10




+ T & & =
PP ¢ 4015 % L (FAEAME) : AE) Fumal A @ R@E) = 0.30 m
PP ¢ 40 AR (W) RIRE(C)
EAME(D2) 0.048 S (W) 0.55 + = 0.55 m
HRHE (W) R (H1) IR oy
THI &= 0.55 X ( 0.27 + 0.048 + )= 0.17 m
HRHIE (W) R (H1) AMBIE()
R = 0.55 X( 027 - - 01)= 0.09 m
e (W) WHLFRIE (h1) e e
OB = X - = m
PR
FAE E = 0.17 m
B R (H) 13, Sl R BR v
D2 : &AM — 3% ()
X5y e EIME EHIE D2:| 5 BHME 48
1 [PP¢13 21.5 0.55 W:| 5 S e 0.55
2 [PP¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 [DGX¢ 75 93.0 0.55 o
8 |DGX ¢ 100 118.0 0.55
RN -
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ <
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10 R )
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+ T & & =
PP ¢ 1315% L (FAGEAME) B FumalAm @ R@E) = 0.30 m
PP ¢ 13 AR (W) R (C)
EAME(D2) 0.022 S (W) 0.55 + = 0.55 m
I (W) R (H1) IR e
THI &= 0.55 X ( 0.27 + 0.022 + )= 0.16 m
HRHIE (W) R (H1) MR
R = 0.55 x( 0.27 - - 0.1)= 0.09 m
e (W) WHLFRIE (h1) e e
R = X - = m
PR
FAE E = 0.16 m
B R (H) 13, Sl R BR v
D2 : &AM — 3% ()
X5y e EIME S HIhE D2:| 1 (= 21.5
1 |PP$13 21.5 0.55 W:| 1 HEHIM 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 _|DGX¢ 75 93.0 0.55 o
8 |DGX ¢ 100 118.0 0.55
SRR,
9 |DGX¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ | <
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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% (F/KEHE) PPH50 EHM

4 ik W B K O 5 A

£ A
(5411 5
RYZF LT ¢ 50 64.5 + 5.0 69.5 | m
PP /LA 50 4 4 &
PP/ 47wk ¢ 50 1 1 1"
PVY ok $50 2 2 1"
PPF—X 50 2 2 il
DIPH
PR3 ARAR 75X ¢ 50 2 2 1
PRI ¢ 50 64.5 64.5 | m
DIPF-v 675 2 2 1A
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RER (F/AKEE) PP@50 7%

£ b5ikig W I R O B K OB wr
[5%5] 1%
AVZF LB T ¢ 50 69.5 69.5 m
Vi F—x TR
PPt T ¢ 50 3.0 + 20 + 4.0 9 i
R)TFL &
PR AKEESGA T ¢ 75X ¢ 50 2 2 (£
AR =V R T ¢ 75 2 2 m
DIP%
LI T ¢ 75 2 =)
AR F Lo E T ¢ 50 69.5 69.5 m
IR R
BT PP ¢ 50 69.5 X 1.216 = 84.51 84.5 kg
a5t | 845 kg
PP /LR %k R
A Z T ¢ 50 4 %X 3.170 = 12.68 12.7 kg
PPV h %k O
¢ 50 1 X 2910 = 291 2.9 kg
PV ok %% R
¢ 50 2 X 2900 = 5.80 5.8 kg
PPF—2X fE%% R
¢ 50 2 X 4770 = 9.54 9.5 kg
&8k | 309 kg
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+ T & & =
PP ¢ 5015 % L. (FAKE B 0E) Boalm |[@ K@= 0.30 m
PP ¢ 50 AR (W) RIRE(C)
EHME(D2) 0.060 FEHIbE (W) 0.55 + = 0.55 m
g (W) BR(HL) EHME By
THI &= 0.55 X ( 0.27 + 0.060 + )= 0.18 m
e (W) BR(HL) WMREE M) AR
R = 0.55 x( 0.27 - - 01)= 0.09 m
e (W) R (h1) B
R = X - = m
PR
HAE A TE = 0.18 m
B R (H) 13, Sl R BR v
D2 : & ME— B (nm)
X5y e EIME EHIE D2:| 6 BHME 60
1 |PP$13 21.5 0.55 W:| 6 HEHIE 0.55
2 |PP¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40 . .
Lo leroso [ o0 | o5 |
7 [HPE ¢ 75 90.0 0.55 o
8 |DGX ¢ 100 118.0 0.55
R
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _| o<
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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HAKARE

b R e W R U A BoE | w
[&#1]
PEf&L M4+
PRk 75X ¢ 75 1 1 &
R RVE kAR A
THEAMESH=1501F ¢ 75X ¢ 65 1 1 18
TIsEE DCIP
RF-GF ¢ 75X H150 1 1 5
E s
WAk R Y7 A () | H=200mm 1 1 Hi
FLE IS
450 X 350-50 2 9 e
mEE
450 X350 H=200mm 1 1 ﬂﬁ]
ERE
450X350 H=100m 1 1 1
JEEAR
680200 H=40mm 1 1 i
[5%]
AR T
(CRHNREHESHE
77y R E) 1 1|t
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